[S|EASYFIX'

DESIGNED TO PERFORM

coMPANY; EASYFIX

DRAWN; Karl O'Mahony

CONTACT,; Gary Earls

DATE; 05/06/2019

AA (1:12)

Stub wall Feed barrier.

Stub Wall Feed Barrier (1 :30)

1475mm sections.

Joiner Sleeve
4 x M10x150 Gr10.9 Galvanised Bolts.
4 x M10 Gr10.0 Galvanised Nyloc Nut.

3 x M10x130 Gr10.9 Galvanised Bolts.
3 x M10 Gr10.0 Galvanised Nyloc Nut.

3 x M12 Bolt/threaded bar.
3 x M12 Nyloc Nut.
3 x M12x60x6mm plate washers.

AA

L Shape Bracket
is welded to
1475mm sections.

A3 Sheet

QUANTITY PART NO

Stub/wall/Barrier/Fitting

ALL DIMENSIONS ARE IN METRIC mm

TOLERANCE

DWG NO; REV

1of 2




[ EASYFIX' AB(1:2)

DESIGNED TO PERFORM

COMPANY; EASYFIX M10 Nyloc Nut

DRAWN; Karl O'Mahony tightened fully and M10x150mm Bolt

CONTACT; Gary Earls rechecked after

DATE; 05/06/2019 2 weeks of use

End View Stub wall Feed Barrier (1 : 8) 20.00( 0.75')

M12x60x6mm plate
washer to be used
on feed face side
of stub wall. M12 Bolts or
Threaded Bar
passing right
through
stub wall.
M12 Nyloc Nut

tightened fully and
rechecked after
2 weeks of use.

Feed Passage Side

Feed Passage side AB

10mm L shaped

500.00( 19.7%) Bracket to be

Mav varv according to the secured to stub

200.00( 8") ize of the animel, wall with bolts
Absolute minimum Check height mndatuon assing right

thickness of 150mm ( 6") through the wall.

A3 Sheet

QUANTITY PART NO

Stub/wall/Barrier/Fitting

ALL DIMENSIONS ARE IN METRIC mm

TOLERANCE

DWG NO; REV

20f 2




